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3. sinA= % A ], cos AtanA 2] ZF2 F5hoizt.
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sin0°, cos0°, sin25°,
cos25°, tan75°
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thgo] A7k meoh TS FuE ), (1) 7 (2) 9 S vrEA] A4
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(1) sinx = 0.5736, cos35° =yollAl x,y°] gt
(2) AAAZFAA 9 &

e sin cos tan

34° 0.5592 0.8290 0.6745

35° 0,5736 0.8192 0.7002

36° 0.5878 0.8090 0.7265

@ (1) x=34°, y=0.8290 (2) 36.225

@ (1) x=136°, y=0.8142 (2) 34.235

)
)

® (1) x=36° y=0.872 (2) 36.215
) x=35° y=0.8192 (2) 40.45
)

® (1) x=36° y=0.802 (2) 36.95
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11. & AZH42re ABC oA LA =34° Y
o, &=0] BC & F51H? (&, sin34° =
0.5592, cos34° = 0.8290 )
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® 22.368 cm @ 23.694 cm
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19. o2 138 /ABH = 60° ¢ 92
ojt} . Y& o] HulE H5HH?
@ 243V3n @ 244V3n
® 2453 @ 243\5r
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20. AW FHOoR 4 YA RS T 4
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21. T2 AABC oA =0 h =9

PN

N 50
T--10--7

@ 2(V3-1) @ 3(V3-1) ® 4(V3-1)
@ 5(V3-1) ® 6(V3-1)
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24. ohE 29 22 A2 ABCD |
A sin x 0] gt oozt
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P\
35° O
[¢) B C x
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@ sin35° = cos H5°
@ sin55° = 0.82

3B cosb5° = cos ,0DC

@ tan 35° = tan 55°

@ sin35° = 0.70
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